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2830 | WENET | LIETESFR HET 71R48 =
im 0.07 0.07 0.05 0.05 0.06 0.06
50cm 0.06 0.06 0.06 0.06 0.07 0.06
2831 | HERE |FIREKFER FEBIE 71R48 =
1m 0.07 0.06 0.06 0.06 0.06 0.06
50cm 0.08 0.08 0.06 0.06 0.06 0.06
2832 | WENRE |PETERFR sy 71A48 ME
im 0.08 0.08 0.06 0.06 0.06 0.06
50cm 0.09 0.09 0.05 0.05 0.06 0.05
2833 | JHEMRET |WBAETERRAT E/R 7R4R EES
1m 0.09 0.09 0.06 0.05 0.06 0.06
50cm 0.10 0.11 004 005 0.06 0.09
2834 | FEEMRET |HALETERRAT W=t 7R48 M=
m 0.08 0.10[  004] 005 0.06 0.08
50cm 0.08 0.10[ 006 0.07 0.06 0.10
2835 | HEMRET |HERKRA R 7R48 M=
m 0.08 0.10[ 006 0.07 0.06 0.10
50cm 0.06 0.08 0.05 0.07 0.07 0.09
2836 | WHARE |SRARM(SRERM [LEH 7R48 M=
1m 0.07 0.08 0.05 0.07 0.07 0.08
50cm 0.08 0.09 0.06 0.08 0.08 0.10
2837 | WEHARE |RMARME(RMEREH) [HRM 7R48 M=
1m 0.08 0.09 0.07 0.08 0.07 0.09
50cm 0.07 0.09 0.05 0.07 0.07 0.09
2838 | WEARHET |B/AKS Feh 71R48 =
1m 0.07 0.08 0.05 0.07 0.07 0.10
50cm 0.09 0.10[ 006 0.07 0.09 0.12
ME(X)
1m 0.08 0.09 0.06 0.08 0.09 0.11
2839 | HEMRET |EAKEEM dt/#% 7R48
50cm 0.06 0.07 0.08 0.10
MECM)
1m 0.06 0.08 0.07 0.09
50cm 0.07 0.10[ 006 0.07 0.06 0.08
2840 | WHERE |RIRERS RiR 7A48 EIES
1m 0.07 0.09 0.06 0.07 0.07 0.08
50cm 0.06 0.08 0.05 0.06 0.06 0.08
2841 | FEEMRET | LETERAT =l 7R48 EES
1m 0.06 0.07 0.05 0.07 0.07 0.07
50cm 0.06 0.07 0.05 0.05 0.07 0.08
2842 | HEARHET |HMREEFRERF) L] 7A48 ME(X)
1m 0.07 0.08 0.06 0.06 0.07 0.08
50cm 0.09 0.13 0.07 0.08 0.08 0.13
2843 | WENRE |)I| LERFF I 71878 =
1m 0.10 0.15 0.08 0.09 0.09 0.13
50cm 0.07 0.11 0.06 0.08
2844 | EEQRET | RARLERAT RARLL 7A78 ME(X) RIERAEREENOAHRE
1m 0.07 0.12 0.07 0.08
50cm 0.06 0.09 0.05 0.06 0.07 0.08
2845 | FEEAET |FELERFR 31T} 7878 HE(X)
m 0.07 0.08 0.06 0.06 0.06 0.08
50cm 0.06 0.07 0.05 0.06 0.06 0.07
2846 | HEMRET |tk EEXP R EYE 7A78 m=E
m 0.06 0.07 0.06 0.06 0.06 0.06
50cm 0.10 0.14| 007 0.10
2847 | WENRHET |FEERA EEFEZLR 7A78 m=E AIEAEREESN DAHBRIE
m 0.09 0.13 0.07 0.09
50cm 0.08 0.11
2848 | WEMRET |SHBERE ZUMFRL 7A78 B o#HRIE
m 0.08 0.10
- -~ 50cm 0.08 0.10[ 006 0.07 0.07 0.10
2849 | FEEHAT %’:{F*"*\Eﬁ(ﬁ&*;'ﬁ SYHTR/ £ 7A78 =
m 0.07 0.09 0.06 0.07 0.07 0.09
50cm 0.07 0.08 0.05 0.06 0.06 0.06
a50 | mmpen |DEHAREETERS |=opon iy 1878 EIe)
m 0.07 0.08 0.05 0.06 0.06 0.07
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2869 | FEMHET 184 BERA REFHEE 7848 ME(X)
m 005 008 005 o008 o005 008
50cm 006| 009 005 007 o006| 008
2870 | WENRET |BREHESFR RHRF/NRIIE 7848 HE(X)
m 006| 009 004 007 o006 007
50cm 006| 008 004 005 005 006
2871 | HEARE |EAHERA REFESH 7A48 m=E
m 006| 008 004 005 o004 006
B B B 50cm 005 008 005 006] 005 009
2872 | HEARE |FREARK(FEEKRM |FTRAFEA 7848 EiES
m 005 007 005 o007 o006 008
50cm 005 007 005 o006] o006 007
2873 | WEMRE |FREKREH FHREFHER 7A48 m=E
m 005 008 005 007 o005 007
50cm 005 009 005 o008 007] 010
2874 | FEEMRET |ITHERAET FRAFITRSZ 7A48 m=E
m 005 009 006 007 007 009
50cm 006| 007 005 o006] 005 006
2875 | WEARE |EXKARME(EXERM |[FRAFEXZ 7848 E(X)
m 006| 008 004 007 005 006
— PN 50cm 008| 008 006 007 007 007
276 | men |KEHOARBOLEHRE |2nmar pm 1828 e
m 008| 008 006 007 007 007

2/4




EEREBEHRSRE=2YI/RE (RRFHESE) KFE
(FRz26%6 A1 1A~FH2 648 H8HEM)

RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ERHEE (uSv/h)
B _ _ — MEERH AR BE - "—ILF " - kL
No. ETA KSR PR WEAR |MEES | (B - = osn %
nEEE| PR [wEEx| o) (neEx
R R R
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_ - 50cm 0.08 0.09 0.06 0.08 0.07 0.08
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im 0.07 0.09 0.07 0.08 0.07 0.08
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1m 0.09 0.11 0.06 0.08 0.08 0.08
- 50cm 0.07 0.08 0.05 0.07 0.06 0.08
2889 | WEARE |WBERFOLBARE [WWBFLE 7A28 ME(X)
1m 0.06 0.08 0.06 0.07 0.06 0.08
- 50cm 0.08 0.09 0.06 0.08 0.07 0.09
2890 | WEMRET |BFBRRA WBFB LWL 7A28 ME(X)
1m 0.07 0.09 0.06 0.08 0.06 0.09
- 50cm 0.05 0.07 0.06 0.06 0.05 0.06
2891 | HEARE |SHARME(SHMERA) |(£EAFEMH 7A28 EIES
1m 0.05 0.08 0.05 0.06 0.05 0.07
- 50cm 0.07 0.09 0.05 0.07 0.06 0.09
2892 | FEMRET |JIGERAT kI 7A38 EIES
1m 0.07 0.09 0.05 0.08 0.06 0.09
- 50cm 0.06 0.07 0.05 0.07 0.06 0.08
2893 | HEMNHE |REKRF SEFERME 7838 EES
1m 0.06 0.07 0.06 0.07 0.06 0.07
- 50cm 0.06 0.08 0.05 0.07 0.07 0.12
2894 | FEEMRHET | EERA fuNMAFRER 7A38 EIES
1m 0.06 0.07 0.05 0.06 0.07 0.10
- 50cm 0.06 0.08 004| 005 0.05 0.06
2895 | WEEIMET |MMBEAFERT NG 7A38 EES
1m 0.06 0.07 0.05 0.06 0.05 0.07
50cm 0.06 0.08 0.05 0.06 0.05 0.09
2896 | FEMRHET |/INFBRERA MR INER 7A38 EIES
1m 0.06 0.07 0.05 0.07 0.05 0.09
- 50cm 0.06 0.07 0.05 0.06 0.06 0.08
2897 | HERE |=HRAKE(EHERM (IHTFTER 7A38 EIES
1m 0.06 0.07 0.05 0.07 0.05 0.08
e eETE G a1 50cm 0.06 0.08 0.06 0.07 0.06 0.09
2808 | stgpear |BERIIIES SO | iy 71838 fi=
= m 0.06 0.07 0.06 0.06 0.06 0.09
"~ - 50cm 0.07 0.09 0.05 0.07 0.06 0.07
200 | stpear |MEMORBEEMAR |)ee 71838 RZ (K)
m 0.06 0.09 0.06 0.07 0.05 0.08
50cm 0.06 0.07 0.05 0.07 0.06 0.08
2000 | WEEAET |BUHERFET JHEGES::p] 7R838 EiES
m 0.06 0.08 0.05 0.07 0.06 0.08
50cm 0.07 0.09 0.05 0.07 0.06 0.08
2901 | FEEMRHET |HELERA A = =F23 00 7A18 m=E
m 0.07 0.08 0.06 0.06 0.07 0.09
50cm 0.08 0.10[ 005 0.06 0.07 0.07
2902 | WEARE |QEARSE(REERM  |/\EFRH 7A18 FE(X)
m 0.08 0.09 0.06 0.07 0.07 0.08
50cm 0.08 0.09 0.06 0.06 ] )
2903 | FEMRET |NEHERA J\BE=F L% 7A18 REE AIEAEER T ESN DAHBRIE
m 0.07 0.09 0.07 0.07
50cm 0.06 0.06 0.05 0.06 0.05 0.07
2004 | HENRE |BHFKRFHR NEFEFR 7A18 mn=E
m 0.06 0.07 0.06 0.05 0.05 0.07
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50cm 0.06 0.08 0.06 0.07 0.08 0.11
2905 | FEEMRET | TEEKRA =FE/N 7RA18 =
m 0.07 0.07 0.06 0.07 0.07 0.10
_ 50cm 0.07 0.08 0.05 0.06 0.05 0.05
2906 | HERET |FHEERM ZMFEER 7RA18 NE(K)
m 0.06 0.09 0.05 0.06 0.06 0.06
_ 50cm 0.07 0.08 0.06 0.05 0.06 0.07
2907 | FERET |KERRA SFRIA 7RA18 NE(K)
m 0.07 0.07 0.06 0.05 0.06 0.07
50cm 0.05 0.06 0.05 0.06 0.05 0.06
2908 | HEERAET |KRELRM ZMFKIR 7RA18 FIES
m 0.05 0.06 0.05 0.06 0.05 0.06
S 50cm 0.08 0.09 0.06 0.06 0.07 0.08
2000 | spmpear |HARAREUERBRR = gorrry 7818 =
m 0.08 0.09 0.05 0.06 0.06 0.08
50cm 0.10 0.10
2910 | FEMRET |ETHRRAM NHFFET 12— 10 7RA18 B OHRE
im 0.10 0.09
e 50cm 0.10 0.11 0.06 0.06 0.08 0.08
oon1 | gapear |ERMHESEERRR \gxenme 1818 =
= m 0.09 0.10 0.06 0.07 0.08 0.08
= 50cm 0.10 0.09 0.06 0.06 0.09 0.09
2012 | stapear |JRARZEMREFON \ggommpe 1838 iz
! = im 0.10 0.09 0.07 0.07 0.09 0.09
_ 50cm 0.13 0.13 0.05 0.07 0.09 0.10
2913 | WEARET M/ DSEMR BRFHEZ 7RA18 M=
im 0.1 0.1 0.06 0.07 0.08 0.10]
50cm 0.07 0.10 0.08 0.08 0.08 0.10
2914 | HERET |NBERH ERTLHEZ 7818 =
im 0.08 0.10] 0.07 0.08 0.08 0.10]
_ 50cm 0.11 0.1 0.07 0.08 0.1 0.14
2915 | HERET |BRERH EETERE 7818 =
im 0.1 0.12 0.07 0.09 0.10] 0.13
1% He A 50cm 0.10 0.12 0.07 0.08 0.10 0.1
2016 | gmtapear |MUHLRIECS—® | parm 7838 fo=
= im 0.10 0.12 0.07 0.08 0.10] 0.1
_ 50cm 0.10 0.12 0.07 0.08 0.1 0.13
2917 | HERE |BERERH T BT 7818 =
im 0.10 0.1 0.07 0.09 0.10] 0.12
_ 50cm 0.07 0.1 0.06 0.08 0.09 0.14
2918 | ERET | Ki/NBERA EEFLEZ 7A28 M=
im 0.08 0.1 0.07 0.08 0.09 0.13
- A 50cm 0.08 0.13 0.07 0.08 0.08 0.11
2019 | stpear |FRTEHHES-RR |pamxmn 7828 iz
= im 0.09 0.11 0.07 0.08 0.07 0.10
_ 50cm 0.07 0.10 0.07 0.10 0.11 0.16
2000 | HERET |TRERH EEFEZWE 7828 = ()
im 0.07 0.11 0.08 0.11 0.11 0.16
U N 50cm 008 011
2021 | wmpen |[EREFVELI—ER \zge | grz 7828 BAOHAE
£27)
im 0.08 0.10
e Sy hg (3 i 50cm 0.08 0.11 0.07 0.08 0.07 0.09
2922 | enr |ERTICVET AR |y 7828 IR
= im 0.08 0.10 0.07 0.08 0.07 0.08
3 oy 50cm 0.07 0.09 0.06 0.08 0.06 0.09
203 | stapear |EIRESTR/RERR | amnm 7828 EHH
im 0.07 0.09 0.06 0.08 0.06 0.09
50cm 0.09 0.10 0.06 0.09 0.07 0.10
=
im 0.08 0.11 0.07 0.10 0.08 0.10
2924 | HERET |EHRERM EEFaHAP 7A28
50cm 0.06 0.08 0.08 0.10
#=
im 0.07 0.09 0.08 0.11
50cm 0.12 0.15 0.08 0.12 0.10 0.15
2005 | HERET |HAMERE EEFEEWE 7828 =
im 0.12 0.16 0.09 0.14 0.10 0.16
50cm 0.10 0.15
2026 | HERE |ARERERAH EEFARWE 7828 EADHBEE
im 0.09 0.13
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